


To **subtract** means to **take away**.

The **difference** is the answer when you subtract numbers.

$$3 - 1 = 2$$
The equation  $3 - 1 = 2$  is shown with gold stars. Under the number 3, there are three gold stars arranged in a triangle. Under the number 1, there is one gold star. Under the number 2, there are two gold stars arranged vertically.

Read aloud 3 times.	Write the difference 1 time. Read 3 times.	Write the subtraction fact 1 time. Read 3 times.
$1 - 1 = 0$	$1 - 1 = \underline{\quad}$	
$\begin{array}{r} 1 \\ -1 \\ \hline 0 \end{array}$	$\begin{array}{r} 1 \\ -1 \\ \hline \end{array}$	
$2 - 1 = 1$	$2 - 1 = \underline{\quad}$	
$\begin{array}{r} 2 \\ -1 \\ \hline 1 \end{array}$	$\begin{array}{r} 2 \\ -1 \\ \hline \end{array}$	
$2 - 2 = 0$	$2 - 2 = \underline{\quad}$	
$\begin{array}{r} 2 \\ -2 \\ \hline 0 \end{array}$	$\begin{array}{r} 2 \\ -2 \\ \hline \end{array}$	
$3 - 1 = 2$	$3 - 1 = \underline{\quad}$	
$\begin{array}{r} 3 \\ -1 \\ \hline 2 \end{array}$	$\begin{array}{r} 3 \\ -1 \\ \hline \end{array}$	
$3 - 2 = 1$	$3 - 2 = \underline{\quad}$	
$\begin{array}{r} 3 \\ -2 \\ \hline 1 \end{array}$	$\begin{array}{r} 3 \\ -2 \\ \hline \end{array}$	

Read aloud 3 times.	Write the difference 1 time. Read 3 times.	Write the subtraction fact 1 time. Read 3 times.
$3 - 3 = 0$	$3 - 3 = \underline{\quad}$	
$\begin{array}{r} 3 \\ - 3 \\ \hline 0 \end{array}$	$\begin{array}{r} 3 \\ - 3 \\ \hline \end{array}$	
$4 - 1 = 3$	$4 - 1 = \underline{\quad}$	
$\begin{array}{r} 4 \\ - 1 \\ \hline 3 \end{array}$	$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$	
$4 - 2 = 2$	$4 - 2 = \underline{\quad}$	
$\begin{array}{r} 4 \\ - 2 \\ \hline 2 \end{array}$	$\begin{array}{r} 4 \\ - 2 \\ \hline \end{array}$	
$4 - 3 = 1$	$4 - 3 = \underline{\quad}$	
$\begin{array}{r} 4 \\ - 3 \\ \hline 1 \end{array}$	$\begin{array}{r} 4 \\ - 3 \\ \hline \end{array}$	
$4 - 4 = 0$	$4 - 4 = \underline{\quad}$	
$\begin{array}{r} 4 \\ - 4 \\ \hline 0 \end{array}$	$\begin{array}{r} 4 \\ - 4 \\ \hline \end{array}$	

Write the difference of each subtraction fact. Read it aloud.

$1 - 1 = \underline{\quad}$

$$\begin{array}{r} 2 \\ - 1 \\ \hline \end{array}$$

$3 - 3 = \underline{\quad}$

$$\begin{array}{r} 1 \\ - 1 \\ \hline \end{array}$$

$2 - 1 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$4 - 1 = \underline{\quad}$

$$\begin{array}{r} 2 \\ - 2 \\ \hline \end{array}$$

$2 - 2 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 3 \\ \hline \end{array}$$

$4 - 2 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$3 - 1 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 2 \\ \hline \end{array}$$

$4 - 3 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$$

$3 - 2 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 4 \\ \hline \end{array}$$

$4 - 4 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 3 \\ \hline \end{array}$$

Read aloud 3 times.	Write the difference 1 time. Read 3 times.	Write the subtraction fact 1 time. Read 3 times.
$5 - 1 = 4$	$5 - 1 = \underline{\quad}$	
$\begin{array}{r} 5 \\ -1 \\ \hline 4 \end{array}$	$\begin{array}{r} 5 \\ -1 \\ \hline \end{array}$	
$5 - 2 = 3$	$5 - 2 = \underline{\quad}$	
$\begin{array}{r} 5 \\ -2 \\ \hline 3 \end{array}$	$\begin{array}{r} 5 \\ -2 \\ \hline \end{array}$	
$5 - 3 = 2$	$5 - 3 = \underline{\quad}$	
$\begin{array}{r} 5 \\ -3 \\ \hline 2 \end{array}$	$\begin{array}{r} 5 \\ -3 \\ \hline \end{array}$	
$5 - 4 = 1$	$5 - 4 = \underline{\quad}$	
$\begin{array}{r} 5 \\ -4 \\ \hline 1 \end{array}$	$\begin{array}{r} 5 \\ -4 \\ \hline \end{array}$	
$5 - 5 = 0$	$5 - 5 = \underline{\quad}$	
$\begin{array}{r} 5 \\ -5 \\ \hline 0 \end{array}$	$\begin{array}{r} 5 \\ -5 \\ \hline \end{array}$	

Write the difference of each subtraction fact. Read it aloud.

$5 - 2 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 1 \\ \hline \end{array}$$

$5 - 5 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

$5 - 3 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

$5 - 1 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$

$5 - 1 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$

$5 - 3 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 5 \\ \hline \end{array}$$

$5 - 5 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 2 \\ \hline \end{array}$$

$5 - 4 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 1 \\ \hline \end{array}$$

$5 - 4 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 5 \\ \hline \end{array}$$

$5 - 2 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 2 \\ \hline \end{array}$$

Write the difference of each subtraction fact. Read it aloud.

$$4 - 3 = \underline{\quad}$$

$$\begin{array}{r} 2 \\ - 2 \\ \hline \end{array}$$

$$5 - 1 = \underline{\quad}$$

$$\begin{array}{r} 2 \\ - 2 \\ \hline \end{array}$$

$$2 - 1 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$$5 - 2 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 3 \\ \hline \end{array}$$

$$5 - 2 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 1 \\ \hline \end{array}$$

$$5 - 3 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

$$2 - 2 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

$$5 - 4 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$$3 - 2 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$

$$5 - 5 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 1 \\ \hline \end{array}$$

Which of the following subtraction facts equal 2?

$$2 - 1 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$$3 - 1 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 2 \\ \hline \end{array}$$

$$4 - 1 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$$2 - 2 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$

$$2 - 2 = \underline{\quad}$$

$$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$$

$$1 - 1 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$



Write the difference of each subtraction fact. Read it aloud.

$$2 - 1 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$$3 - 1 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 2 \\ \hline \end{array}$$

$$4 - 1 = \underline{\quad}$$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$$2 - 2 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$

$$2 - 2 = \underline{\quad}$$

$$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$$

$$1 - 1 = \underline{\quad}$$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

Carlos completed the following subtraction facts. Rashid says that some were incorrect. Circle incorrect subtraction facts.

$$5 - 4 = \underline{\underline{1}}$$

$$\begin{array}{r} 4 \\ - 4 \\ \hline 1 \end{array}$$

$$5 - 2 = \underline{\underline{3}}$$

$$\begin{array}{r} 5 \\ - 3 \\ \hline 2 \end{array}$$

$$3 - 2 = \underline{\underline{1}}$$

$$\begin{array}{r} 4 \\ - 1 \\ \hline 3 \end{array}$$

$$5 - 4 = \underline{\underline{1}}$$

$$\begin{array}{r} 2 \\ - 1 \\ \hline 3 \end{array}$$

Write the difference of each subtraction fact. Read it aloud.

$3 - 3 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$2 - 1 = \underline{\quad}$

$$\begin{array}{r} 2 \\ - 1 \\ \hline \end{array}$$

$4 - 1 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 1 \\ \hline \end{array}$$

$5 - 3 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 5 \\ \hline \end{array}$$

$4 - 2 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 2 \\ \hline \end{array}$$

$3 - 1 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 3 \\ \hline \end{array}$$

Which of the following subtraction facts equals 3?

$5 - 3 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 4 \\ \hline \end{array}$$

$2 - 1 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$5 - 2 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$$

$3 - 2 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 2 \\ \hline \end{array}$$

$5 - 5 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 2 \\ \hline \end{array}$$

$4 - 3 = \underline{\quad}$

$$\begin{array}{r} 1 \\ - 1 \\ \hline \end{array}$$

$5 - 4 = \underline{\quad}$

$$\begin{array}{r} 3 \\ - 1 \\ \hline \end{array}$$

$5 - 2 = \underline{\quad}$

$$\begin{array}{r} 2 \\ - 1 \\ \hline \end{array}$$

$3 - 2 = \underline{\quad}$

$$\begin{array}{r} 5 \\ - 2 \\ \hline \end{array}$$

$4 - 1 = \underline{\quad}$

$$\begin{array}{r} 4 \\ - 1 \\ \hline \end{array}$$